MANATEE COUNTY GOVERNMENT INTENT TO AWARD

IFB NO. / TITLE	20-R072970CD - Robinson Preserve Expansion Phase IIB Restoration	DATE POSTED	MC DS	CC BCC		
PROCUREMENT REPRESENTATIVE	Chris Daley, Ext 3048	PROJECTED AWARD DATE	April 21, 2020			
DEPARTMENT/DIVISION	Parks and Natural Resources	AUTHORIZED BY DATE	Jacob Erickson, Inter	im Procurement		

NOTICE OF INTENT TO AWARD

The Manatee County Procurement Division provides notice of its intent to award a contract with Tampa Contracting Services, Inc. for the provision of Robinson Preserve Expansion Phase IIB Restoration.

ENABLING/REGULATING AUTHORITY

Manatee County Procurement Ordinance, Sec 2-26.

BACKGROUND/EVALUATION

The Robinson Preserve Expansion Phase IIB Restoration project is part of an ongoing habitat restoration and improvement effort being undertaken by Manatee County Government and other project partners at the Robinson Preserve site. This project will implement restoration activities primarily in the form of earthmoving, dredging, and associated soil stabilizations, necessary to create surface water connections between previously created basins and adjacent tidal waters.

The solicitation was advertised on February 3, 2020 on the Manatee County website, DemandStar, and BidSync. It was also provided to the Manatee County Chamber of Commerce and the Manasota Black Chamber of Commerce for release of its members and in the Bradenton Herald and Tempo News newspapers. Responses were received from the following firms:

1. Tampa Contracting Services, Inc., Palmetto, FL

2. Woodruff & Sons, Inc., Bradenton, FL

The following firms were deemed non-responsible: Bul-Hed Corporation, Bartow, FL

EVALUATION SUMMARY:

Tampa Contracting Services, Inc. is the lowest responsible, responsive bidder(s). A bid tabulation of the results is attached to this Notice of Intent to Award.

RECOMMENDATION

The Procurement Division and the Parks and Natural Resources Department recommend award to Tampa Contracting Services, Inc.

ATTACHMENTS (List in order of attached)	Bid Tabulation	NAME AND NUMBER OF FUNDING SOURCE	3036085219 and 3036085208;
COST	\$1,938,056.89 (Bid B - 540 Days)	FUNDS VERIFIED	Yes

BID TABULATION

IFB NO. R072970CD- Robinson Preserve Expansion Phase IIB Restoration

Bid Summary

Τ			Tampa Contracting Services, Inc.	Woodruff & Sons, Inc.		
			11010 US Highway 41 North	6450 31st Street East		
				Palmetto, FL 34221	Bradenton, FL 34203	
ITEM NO.	DESCRIPTION	UNITS	QTY.	TOTAL BID PRICE	TOTAL BID PRICE	
1	Bid "A" Based on Completion Time of 210 Calendar Days	LS	1	\$1,947,956.89	No Bid	
2	Bid "B" Based on Completion Time of 540 Calendar Days	LS	1	\$1,938,056.89	\$2,700,834.24	

Bid " A" - 210 Calendar Days

Tampa Contracting Services, Inc. 11010 US Highway 41 North Palmetto, FL 34221

ITEM NO.	DESCRIPTION	QTY.	UNIT	U	INIT PRICE (\$)	EXTENDED PRICE (\$)
1	MOBILIZATION	1	LS	\$	90,000.00	\$90,000.00
2	MISCELLANEOUS PERMITS AND BONDING	1	LS	\$	50,000.00	\$50,000.00
3.1	CONSTRUCTION SURVEYING AND STAKEOUT	1	LS	\$	20,000.00	\$20,000.00
3.2	RECORD DRAWINGS	1	LS	\$	15,000.00	\$15,000.00
4	EROSION, TURBIDITY CONTROL, AND MONITORING					
4.1	Staked Silt Fence	8,495	LF	\$	2.00	\$16,990.00
4.2	Floating Turbidity Barrier	2,385	LF	\$	10.00	\$23,850.00
4.3	Erosion and Turbidity Control Maintenance	1	LS	\$	7,500.00	\$7,500.00
4.4	Turbidity Monitoring	150	DAYS	\$	50.00	\$7,500.00
5	CLEARING AND GRUBBING					
5.1	Clearing and Grubbing	22.94	AC	\$	6,000.00	\$137,640.00
6	EXCAVATION, EMBANKMENT, AND STOCKPILE REMOVAL					
6.1	Excavation	39,305	BCY	\$	5.00	\$196,525.00
6.2	Dredge (Palma Sola Channel Dredge and Haul)	11,210	BCY	\$	52.00	\$582,920.00
6.3	Phase I Stockpiled Material (Load and Haul)	1,500	BCY	\$	5.00	\$7,500.00
6.4	Embankment (Haul, Place, and Compact)	42,000	CCY	\$	1.50	\$63,000.00
6.5	Shell Weirs 8" Thick LWS (3" min)	380	SY	\$	23.00	\$8,740.00
6.6	Shell on Channel Slopes 6" Thick LWS (3" min)	360	SY	\$	17.00	\$6,120.00
6.7	Disposal of Unsuitable Material	500	TON	\$	50.00	\$25,000.00

Bid " A" - 210 Calendar Days

Tampa Contracting Services, Inc. 11010 US Highway 41 North Palmetto, FL 34221

				ı aı	mello, FL 34	
ITEM NO.	DESCRIPTION	QTY.	UNIT	U	NIT PRICE (\$)	EXTENDED PRICE (\$)
7	FINISHED GRADING					
7.1	Pond/Channel/Swale/Embankment Areas	25.6	AC	\$	2,000.00	\$51,200.00
8	SOD AND SEED/MULCH					
8.1	Sod (Argentine Bahia)	12,414	SY	\$	3.00	\$37,242.00
8.2	Seed and Mulch (Argentine Bahia)	84,647	SY	\$	0.70	\$59,252.90
9	DRAINAGE STRUCTURES					
9.1	Type "C" Inlet	10	EA	\$	3,000.00	\$30,000.00
9.2	Type "C" Inlet Control Structure	1	EA	\$	5,000.00	\$5,000.00
9.3	8" PVC	352	LF	\$	20.00	\$7,040.00
9.4	12" PCP	90	LF	\$	30.00	\$2,700.00
9.5	18" PCP	350	LF	\$	40.00	\$14,000.00
9.6	18" RCP	36	LF	\$	80.00	\$2,880.00
9.7	24" PCP	265	LF	\$	90.00	\$23,850.00
9.8	18" Concrete Endwall & Waterman AF-41-6	3	EA	\$	5,000.00	\$15,000.00
9.9	24" Concrete Endwall & Waterman AF-41-6	2	EA	\$	6,000.00	\$12,000.00
9.10	23-3/4" USF 5645 Grate	1	EA	\$	300.00	\$300.00
9.11	Existing Culvert (PCP, CAP, DIP) Removal and Disposal	8	EA	\$	1,250.00	\$10,000.00
9.12	Existing Culvert (RCP) Removal and Disposal	2	EA	\$	2,000.00	\$4,000.00
9.13	Twin 8" 4:1 MES	10	EA	\$	2,000.00	\$20,000.00

CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY

TOTAL OFFER FOR BID "A" with Contract Contingency - Based on

APPROVAL)

Completion Time of 210 Calendar Days

						11010 US Highway 41 North Palmetto, FL 34221			
ITEM NO.	DESCRIPTION	QTY.	UNIT	UNIT PRICE (\$)		EXTENDED PRICE (\$)			
9.14	18" 4:1 MES (Includes Rip-Rap)	6	EA	\$	4,000.00	\$24,000.00			
9.15	18" 4:1 MES w/ Grates (Includes Rip-Rap)	2	EA	\$	6,000.00	\$12,000.00			
9.16	Rip-Rap and Fabric	53	SY	\$	40.00	\$2,120.00			
10	MANGROVE MITIGATION PLANTING								
10.1	Mangrove Mitigation Planting	1	LS	\$	60,000.00	\$60,000.00			
11	SEAGRASS MITIGATON TRANSPLANTING								
11.1	Seagrass Donor Area Designation and Permitting	1	LS	\$	10,000.00	\$10,000.00			
11.2	Seagrass Transplanting	1	LS	\$	70,000.00	\$70,000.00			
12	Bald Eagle Nest Monitoring								
12.1	Bald Eagle Nest Monitoring	1	LS	\$	40,000.00	\$40,000.00			
TOTAL BASE BID "A" - Based on Completion Time of 210 Calendar Days						\$1,770,869.90			

10

%

Tampa Contracting Services, Inc.

\$177,086.99

\$1,947,956.89

Bid " B" - 540 Calendar Days

Tampa Contracting Services, Inc.

11010 US Highway 41 North Palmetto, FL 34221

Woodruff & Sons, Inc.
6450 31st Street East Bradenton, FL 34203

				Palmetto, FL		Bradenton, FL	
ITEM NO.	DESCRIPTION	QTY.	UNIT	UNIT PRICE (\$)	EXTENDED PRICE (\$)	UNIT PRICE (\$)	EXTENDED PRICE (\$)
1	MOBILIZATION	1	LS	\$ 90,000.00	\$90,000.00	\$ 199,499.81	\$199,499.81
2	MISCELLANEOUS PERMITS AND BONDING	1	LS	\$ 50,000.00	\$50,000.00	\$ 43,103.26	\$43,103.26
3.1	CONSTRUCTION SURVEYING AND STAKEOUT	1	LS	\$20,000.00	\$20,000.00	\$ 23,100.11	\$23,100.11
3.2	RECORD DRAWINGS	1	LS	\$ 15,000.00	\$15,000.00	\$ 23,089.11	\$23,089.11
4	EROSION, TURBIDITY CONTROL, AND MONITORING						
4.1	Staked Silt Fence	8,495	LF	\$ 2.00	\$16,990.00	\$ 2.00	\$16,990.00
4.2	Floating Turbidity Barrier	2,385	LF	\$ 10.00	\$23,850.00	\$ 16.59	\$39,567.15
4.3	Erosion and Turbidity Control Maintenance	1	LS	\$ 7,500.00	\$7,500.00	\$ 23,486.83	\$23,486.83
4.4	Turbidity Monitoring	150	DAYS	\$ 50.00	\$7,500.00	\$ 183.29	\$27,493.50
5	CLEARING AND GRUBBING						
5.1	Clearing and Grubbing	22.94	AC	\$ 6,000.00	\$137,640.00	\$ 11,255.36	\$258,197.96
6	EXCAVATION, EMBANKMENT, AND STOCKPILE REMOVA						
6.1	Excavation	39,305	BCY	\$ 5.00	\$196,525.00	\$ 7.02	\$275,921.10
6.2	Dredge (Palma Sola Channel Dredge and Haul)	11,210	BCY	\$ 52.00	\$582,920.00	\$ 58.35	\$654,103.50
6.3	Phase I Stockpiled Material (Load and Haul)	1,500	BCY	\$ 5.00	\$7,500.00	\$ 7.00	\$10,500.00
6.4	Embankment (Haul, Place, and Compact)	42,000	CCY	\$ 1.50	\$63,000.00	\$ 8.32	\$349,440.00
6.5	Shell Weirs 8" Thick LWS (3" min)	380	SY	\$ 23.00	\$8,740.00	\$ 23.03	\$8,751.40
6.6	Shell on Channel Slopes 6" Thick LWS (3" min)	360	SY	\$ 17.00	\$6,120.00	\$ 19.32	\$6,955.20
6.7	Disposal of Unsuitable Material	500	TON	\$ 50.00	\$25,000.00	\$ 13.94	\$6,970.00

Bid " B" - 540 Calendar Days

Tampa Contracting Services, Inc.

11010 US Highway 41 North Palmetto, FL 34221

EXTENDED

Woodruff & Sons, Inc.
6450 31st Street East Bradenton, FL 34203

			Palmetto, FL	. 34221	Bradenton, FL		
ITEM NO.	DESCRIPTION	QTY.	UNIT	UNIT PRICE (\$)	EXTENDED PRICE (\$)	UNIT PRICE (\$)	EXTENDED PRICE (\$)
7	FINISHED GRADING						
7.1	Pond/Channel/Swale/Embankment Areas	25.6	AC	\$ 2,000.00	\$51,200.00	\$ 1,735.02	\$44,416.51
8	SOD AND SEED/MULCH						
8.1	Sod (Argentine Bahia)	12,414	SY	\$ 3.00	\$37,242.00	\$ 3.62	\$44,938.68
8.2	Seed and Mulch (Argentine Bahia)	84,647	SY	\$ 0.70	\$59,252.90	\$ 1.15	\$97,344.05
9	DRAINAGE STRUCTURES						
9.1	Type "C" Inlet	10	EA	\$ 3,000.00	\$30,000.00	\$ 1,942.67	\$19,426.70
9.2	Type "C" Inlet Control Structure	1	EA	\$ 5,000.00	\$5,000.00	\$ 3,643.27	\$3,643.27
9.3	8" PVC	352	LF	\$ 20.00	\$7,040.00	\$ 21.31	\$7,501.12
9.4	12" PCP	90	LF	\$ 30.00	\$2,700.00	\$ 27.58	\$2,482.20
9.5	18" PCP	350	LF	\$ 40.00	\$14,000.00	\$ 34.81	\$12,183.50
9.6	18" RCP	36	LF	\$ 80.00	\$2,880.00	\$ 140.16	\$5,045.76
9.7	24" PCP	265	LF	\$ 90.00	\$23,850.00	\$ 73.36	\$19,440.40
9.8	18" Concrete Endwall & Waterman AF-41-6	3	EA	\$ 5,000.00	\$15,000.00	\$ 3,270.29	\$9,810.87
9.9	24" Concrete Endwall & Waterman AF-41-6	2	EA	\$ 6,000.00	\$12,000.00	\$ 3,601.86	\$7,203.72
9.10	23-3/4" USF 5645 Grate	1	EA	\$ 300.00	\$300.00	\$ 975.70	\$975.70
9.11	Existing Culvert (PCP, CAP, DIP) Removal and Disposal	8	EA	\$ 1,250.00	\$10,000.00	\$ 1,027.88	\$8,223.04
9.12	Existing Culvert (RCP) Removal and Disposal	2	EA	\$ 2,000.00	\$4,000.00	\$ 954.07	\$1,908.14
9.13	Twin 8" 4:1 MES	10	EA	\$ 2,000.00	\$20,000.00	\$ 812.16	\$8,121.60

IFB NO. R072970CD- Robinson Preserve Expansion Phase IIB Restoration

IFB NO. I	R072970CD- Robinson Preserve Expansion Phase IIB Restoration	on		Tampa Conti	racting Services,	l		
Bid " B" -	- 540 Calendar Days			Inc.	-		oodruff & So	•
				11010 US Highway 41 North Palmetto, FL 34221		6450 31st Street East Bradenton, FL 34203		
ITEM NO.	DESCRIPTION	QTY.	UNIT	UNIT PRICE (\$)	FXTENDED		NIT PRICE (\$)	EXTENDED PRICE (\$)
9.14	18" 4:1 MES (Includes Rip-Rap)	6	EA	\$ 4,000.00	\$24,000.00	\$	2,131.67	\$12,790.02
9.15	18" 4:1 MES w/ Grates (Includes Rip-Rap)	2	EA	\$ 6,000.00	\$12,000.00	\$	3,609.66	\$7,219.32
9.16	Rip-Rap and Fabric	53	SY	\$ 40.00	\$2,120.00	\$	93.80	\$4,971.40
10	MANGROVE MITIGATION PLANTING							
10.1	Mangrove Mitigation Planting	1	LS	\$ 60,000.00	\$60,000.00	\$	60,900.15	\$60,900.15
11	SEAGRASS MITIGATON TRANSPLANTING							
11.1	Seagrass Donor Area Designation and Permitting	1	LS	\$ 6,000.00	\$6,000.00	\$	15,750.04	\$15,750.04
11.2	Seagrass Transplanting	1	LS	\$ 65,000.00	\$65,000.00	\$	63,000.15	\$63,000.15
12	Bald Eagle Nest Monitoring							
12.1	Bald Eagle Nest Monitoring	1	LS	\$40,000.00	\$40,000.00	\$	30,838.58	\$30,838.58
TOTAL Calenda	BASE BID "B" - Based on Completion Time of <u>540</u> ar Days				\$1,761,869.90			\$2,455,303.85
	CONTRACT CONTINGENCY WORK (USED ONLY WITH COUNTY APPROVAL)	10	%		\$176,186.99			\$245,530.39
	OFFER FOR BID "B" with Contract Contingency - Based upletion Time of <u>540</u> Calendar Days				\$1,938,056.89			\$2,700,834.24